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Note : This paper is of seventy (70) marks divided into

two (2) Sections 'A' and 'B'. Attempt the questions

contained in these sections according to the detailed

instructions given therein. Candidates should limit their

answers to the questions on the given answer sheet. No

additional (B) answer sheet will be issued.

;g iz'u i= lRrj ¼70½ vadksa dk gS tks nks ¼2½ [k.Mksa ¼d½

rFkk ¼[k½ esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r

funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ vius

iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer j[ksaA

dksbZ vfrfjDr ¼ch½ mÙkj iqfLrdk tkjh ugha dh tk;sxhA

SECTION—A

(Long Answer Type Questions)
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Note : Section 'A' contains five (5) long answer type questions

of Nineteen (19) marks each. Learners are required to

answer any two (2) questions only. 2 × 19 = 38

[k.M ¼d½ esa ik¡p ¼5½ nh?kZ mRrjksa okys iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa

dks buesa ls dsoy nks ¼2½ iz'uksa ds mRrj nsus gSaA

1. What are accounting concepts and conventions? Name

them and explain them in detail?

ys[kkadu vo/kkj.kk,¡ vkSj izFkk,a D;k gSa\ muds uke crk;sa vkSj

foLrkj ls mudh O;k[;k dhft;sA

2. What are different causes of discrepancy between bank

balances as per cash book and pass book?

jksdM+ iqLrd vkSj ikl cqd ds vuqlkj cSad [kkrs 'ks"k ds chp

folaxfr ds fofHkUu dkj.k D;k gSa\

3. From the following trial balance and additional information,

you are required to prepare Trading and Profit and Loss

account and Balance sheet.

fuEufyf[kr ryiV vkSj vfrfjDr tkudkjh ls] vkidks O;kikj

vkSj ykHk vkSj gkfu [kkrk vkSj vkfFkZd fpV~Bk rS;kj djuk

vko';d gSA
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Trial Balance as on 31st December 2021

Particulars Dr. Amount Rs. Cr. Amount Rs.

Capital iw¡th 20]000

Sundry Debtors

fofo/k nsunkj 5]400

Drawings vkgj.k 1]800

Machinery e'khujh 7]000

Sundry Creditors

fofo/k ysunkj 2]800

Wages etnwjh 10]000

Purchases Ø; 19]000

Opening Stock

izkjfEHkd jgfr;k 4]000

Bank Balance

cSad jkf'k 3]000

Carriage charges

ifjogu O;; 300

Salaries osru 400

Rent and Taxes

fdjk;k vkSj dj 900

Sales foØ; 29]000

51]800 51]800
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Additional Information: vfrfjDr tkudkjh

i. Closing Stock Rs. 1,200.

vafre jgfr;k : 1]200

ii. Outstanding Rent and Taxes Rs. 100.

cdk;k fdjk;k vkSj dj #- 100-

iii. Charge depreciation on machinery at 10%.

e'khujh ij 10% ewY;gzkl

iv. Wages prepaid Rs 400.

iwoZnkr etnwjh 400 #-

4. What do you understand by subsidiary books? Describe

the objectives of preparing them?

lgk;d iqLrdksa ls vki D;k le>rs gSa\ bUgsa rS;kj djus ds

mís';ksa dk o.kZu dhft;s\

5. What is a Trial Balance? Explain its objectives and

benefits?

ryiV D;k gS\ blds mís'; ,oa ykHk Li"V dhft;s\

SECTION—B

(Short Answer Type Questions)

Note : Section 'B' contains eight (8) short answer type questions

of Eight (08) marks each. Learners are required to

answer any four (4) questions only. 4 × 8 = 32
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[k.M ¼[k½ esa vkB ¼8½ y?kq mRrjksa okys iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB ¼8½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa dks

buesa ls dsoy pkj ¼4½ iz'uksa ds mRrj nsus gSaA

1. State the persons who should be interested in accounting

information?

mu O;fDr;ksa ds ckjs esa crk,a ftUgsa ys[kkadu tkudkjh esa #fp

gksuh pkfg;s\

2. Journalize the following transactions and post them in the

Ledger.

fuEufyf[kr ysu&nsu dks tuZyhÑr djsa vkSj mUgsa cgh esa iksLV

djsaA

1. Ram started business with a capital of Rs 10,000.

jke us 10]000 #i;s dh iwath ds lkFk O;olk; 'kq: fd;kA

2. He purchased goods from Mohan on credit Rs. 2,000.

mlus eksgu ls 2]000 #i;s m/kkj ij lkeku [kjhnkA

3. He paid cash to Mohan Rs. 1,000.

mlus eksgu dks 1]000 udn #i;s dk Hkqxrku fd;kA

4. He sold goods to Suresh Rs 2,000.

mlus lqjs'k dks 2]000 #i;s dk lkeku cspkA

5. He received cash from Suresh Rs 3,000.

mls lqjs'k ls 3]000 #i;s udn feysA
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6. He further purchased goods from Mohan Rs 2,000.

mlus vkxs eksgu ls 2]000 #i;s dk lkeku [kjhnkA

7. He paid cash to Mohan Rs. 1,000.

mlus eksgu dks 1]000 #i;s udn fn;sA

8. He further sold goods to Suresh Rs 2,000.

mlus vkxs lqjs'k dks 2]000 #i;s dk eky cspkA

9. He received cash from Suresh Rs. 1,000.

mls lqjs'k ls 1]000 #- udn izkIr gq,A

3. What are the features of Receipt and Payment account?

vkxe&'kks/ku [kkrs dh D;k fo'ks"krk,¡ gS\

4. State the relationship between journal and ledger.

tuZy vkSj cgh ds chp laca/k crk;sA

5. Differentiate between a bill of exchange and promissory

note.

fofue; i= vkSj opu i= ds chp varj crk;sA

6. What is a bank reconciliation statement?

cSad lek/kku fooj.k D;k gS\

7. What is a computer? State its characteristics?

daI;wVj D;k gS\ bldh fo'ks"krk,¡ crk;sa\

8. Calculate the amount of annual depreciation and rate of

depreciation under the straight line methods from the

following :
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Purchased a second hand machine for Rs. 96,000, spent

Rs. 24,000 on its cartage, repairs and installation, estimated

useful life of machine 4 years. Estimated residual value

Rs. 72,000.

fuEufyf[kr ls LFkkbZ izHkkx i)fr ds varxZr okf"kZd ewY;gzkl

dh ek=k vkSj ewY;gzkl dh nj dh x.kuk djsa&

96]000 #i;s esa ,d lsdaM gSaM e'khu [kjhnhA blds dkVsZt]

ejEer vkSj LFkkiuk ij 24]000 #i;s [kpZ gq,] e'khu dk

vuqekfur mi;ksxh thou 4 o"kZ gSA vuqekfur vof'k"V ewY;

#- 72]000 gSA

*************
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